fittings




Assembly Instruction for Compression Fittings to EN ISO 8434-1

A\ Safety Instructions

General safety regulations
Please pay attention to general safety regulations when working
with tools and machines. Wear protective clothing!

Pipeline and medium
Before assembly or disassembly make sure, the tube or pipeline
is not under pressure. Take care not to apply any additional
tension or stress to the coupling, when setting up the pipeline.

Do not exceed any temperature or pressure limits. Pay attention
when using dangerous or harmful mediums. Respect the temperature
at the pipeline.

Workplace
Keep your workplace clean. Make sure you have the all necessary
material available before starting the assembly.

Wear Safety glasses
Some workers just remove chips from the tubes by using pressurized air.
Dust and chips can harm your eyes, therefore wear safety glasses.

Foreign particles
Take care that the coupling is free of dirt and foreign particles
before assembly. Contaminated parts may cause leakages.

© Schwer Fittings. Reproduction in any form, wholly or in part, is only
allowed with prior permission. Contents subject to change without notice.

W 2 sdwer



Assembly Instruction for Compression Fittings to EN ISO 8434-1

Assembly Instruction 4
Check 7
Final assembly onto the body 7
Reinforcing Rings 8
Pre-Assembly Machine 10
Technical Information 12




Assembly Instruction for Compression Fittings to EN ISO 8434-1

C Assembly Instruction

When mounting stainless steel pipes
the pre-assembly is to be carried out
exclusively in the hardened VOMO.

A direct assembly in the stainless steel
must be avoided! The cones of the
VOMOS are subject wear and must
therefore be checked at regular
intervals with a cone gauge.

In order to prevent incorrect assembly
from the outset, worn VOMOS
should be replaced with new ones.

We recommend only seamless soft
annealed stainless steel tubes made
of material 1.4571 according to

EN ISO 10216-5 or DIN EN ISO 1127
tolerance class D4/T3.

Note: no welded tubes!

Saw off the tubes at right angles in a
jig, permissible angular deviation from
the tube axis max 0.5°.

Do not use a pipe cutter!
Slightly deburr tubes inside and
outside. Chamfer max. 0.2 x 45°
permissible.

For thin-walled tubes we recommend
to use reinforcing sleeves!
(see Main Catalog H11 chapter Tubes)

schwer



Assembly Instruction for Compression Fittings to EN ISO 8434-1

C Assembly Instruction

For the corresponding pipe, use
the corresponding pre-assembly
connecting piece in the vice.

Note: For dimensions over 16 mm,
we recommend pre-assembly with an
electro-hydraulic pre-assembly device.

The pre-assembly connecting pieces
(VOMO) must be regularly (after 60
pre-assemblies) with a be checked
with a cone gauge.

Lubricate the 24° female cone and
the male thread of the VOMO, as
well as the entire.

Lubricate the entire inside of the
coupling nut with SR-5GP lubricant.

If possible, screw the coupling nut
the VOMO once loosely, so that the
grease can be better can distribute.

Slide the union nut and cutting ring
over the tube end.

Attention: Cutting edge always in
direction of the connection cone.




Assembly Instruction for Compression Fittings to EN ISO 8434-1

C Assembly Instruction

Push the unit tube, cutting ring and
union nut into the VOMO. Tighten the
union nut onto the VOMO by hand.

Press the tube against the stop in the
base of the VOMOS.

A marking sign on the nut facilitates
the observation of the required turns.

Tighten 1 =1 1/4 turns with a wrench.
Here the tube can be turned radially
up to approx. 1/2 turn radially, after
that it should not rotate.




Assembly Instruction for Compression Fittings to EN ISO 8434-1

Loosen the union nut.

Check the cut of the cutting edge.
The throw-up covers part from the
cutting ring face evenly around the
entire circumference.

The cutting ring may be rotated radially
but it must not be possible to move it
forwards. Due to the tough material
1.4571, the cutting edge does not
throw up in the same way as with

steel tubes.

Final assembly onto the body

After a positive result, insert the
pre-assembled tube into the screwed
connection piece. Tighten the union
nut approx. 1/4 — 1/2 turn above the
noticeable increase in force.

The connecting piece must be
with a wrench.

For the larger dimensions extensions
for the open-end wrenches are
necessary.



Assembly Instruction for Compression Fittings to EN ISO 8434-1

gs SR-595

For cost reasons, thin-walled tubes are
often used, which cannot withstand
the pressure of the cutting ring during
assembly.

In order to guarantee the function of
the fitting, we recommend the use of
our sf reinforcement sleeves.

Assembly:

The reinforcement sleeves can be
easily into the tube up to the knurl
into the tube.

The knurled part is driven into the tube
with a soft hammer.

An interference fit is created, whereby
the tube is not expande.

The reinforcing sleeve fits tightly and
supports the tube against constriction
during assembly.




Assembly Instruction for Compression Fittings to EN ISO 8434-1

Certificate

DNV
Caortificate No:
TAPDODOZEA

TYPE APPROVAL CERTIFICATE
This is to certify:
That the Pipe Couplings, Bite and Compression Typs
with type designation(s)
SR-S002
Issued to
Schwer Fittings GmbH
D Baden-
is found 1o comply with

DNV GL rules for classification - Ships Pt.4 Ch.6 Piping systems

DNV GL class programme DNVGL-CP-0185 - Type approval - Mechanical joints
Application :
Product(s) approved by this certificate pled for classed by DNV.

Temperature range:  Refer to certificate

Max. working press.: 630 bar

3 Bmm up to 42mm
Issued at Hamburg on 2021-09-02
for DNV
This Certificate is valkd untl 2026-09-01. TN Dty By v o1
DNV local station: Augsburg Q"_“‘) x:’:.‘:;ﬂw
Approval Engineer; Hagen Markus. Olaf Drews
Head of Section
e docarrent -
DNV
e v com Fage 1or3




Assembly Instruction for Compression Fittings to EN ISO 8434-1

‘ Hand-Pre-Assembly Machine Pace1Press

Compared to all other machines available on the market - the
patented electrohydraulic pre-assembly tool, Pace1Press,
from Schwer Fittings, is a technological revolution. Providing

a flexible and portable solution, compared to a bench machine.

Technical specifications:

Battery: 18V

Weight: 7 kg

Pipe diameter: min. 6 mm, max. 42 mm
Designed for Compression Fittings to

EN IS0 8434-1 (DIN 2353).

Precision casting nose part.

The machine can be used for 6 - 42L
(L-series) as well as

6 - 38S (S-series) steel

and stainless steel.

W For consistent pre assembly quality
M Independent of any external power source
W Also for use in limited space

for steel and
stainless steel




Assembly Instruction for Compression Fittings to EN ISO 8434-1

c Electro-hydraulic Pre-assembly Machine

VARO

All-purpose:

for 24° bite-ring couplings according EN ISO 8434-1
for 37° Flare fittings

MO-VMG380

Compact and robust machine

Manual adjusting of working pressure with digital display
Short set-up and assembly time

Clear tables for set-up

Dimensions / weight: 515x660x265 mm / 66 kg

® & ji

Gliss Pipe Pre-Assem- Pipe Cutting
Lubricant Deburrer bly Stud Tool




Assembly Instruction for Compression Fittings to EN ISO 8434-1

Technical Information

Pressure rating

Pressures
Series Pipe OD Nominal Pressure*
LL (very light)) 4-8 mm 100 bar
L (ight) 6-18 mm 315 bar
22-42 mm 160 bar
S (heavy) 6-14 mm 630 bar
16-30 mm 400 bar
38 mm 315 bar

*at 20° C. For higher temperatures, please refer to the pressure reduction table.

DVGW assembley attachement

Assembly according to DVGW

Mounting Instruction of removable tube couplings for metal gas pipes

1. Solderless tube fittings with outside thread Form A,. E and F may not be used in installations
according to DVGW - TRGI and TRF.

2. DVGW-Mark of conformity: DG4502BM0334

3. Suitable for gases according to DVGW worksheet G 260 .
Nominal pressure

4. Nominal pressure: Series Outer diameter of tube @ PN bar

L 06, 08, 08, 10, 12, 15, 18 250
22,35, 42 100

S 06, 08, 10, 12, 14, 16, 20, 25, 30, 38 250

5. Permissible service temperature: minus 20° C up to plus 70° C

6. Tubes to be according to EN ISO 1127 or DIN 2462

7. Axial force: tensile and push strength

8. Repeated usability: 10 times

W 12 sdwer



Assembly Instruction for Compression Fittings to EN ISO 8434-1

Technical Information

Minimum wall thickness pipes

Pipes

Pipe diameter in mm Min. wall thickness in mm
6,8 1,0

10,12,14,15,16 15

18, 20, 22, 25, 28 2,0

30, 35 2,5

38,42 3,0

Advice for elbows and short pieces

3xH
H
[ )
- 1 ]
oy

The minimum length of the straight end of an elbow should be equivalent to min.
2 x H, i.e. twice the thickness of the union nut. The minimum length of a straight
pipe should be 3 x H.

sahwer 13 A



Assembly Instruction for Compression Fittings to EN ISO 8434-1

| Technical Information

Dimensions pipe connections

s

Series Tube- O

’

outside-@ d9 M DIN 13 t5+03  t3:02 f+03  d1q +01
4 4,14 0075 M 8x1,0 4,0 8 2 5,0
LL 6 6,14 0%  M10x1,0 55 8 2 7,5
8 8,15 %%  M12x1,0 55 9 2 9,5
10 10,15 99 M 14x10 55 9 2 11,5
12 12,15 011 M16x1,0 6,0 9 2 13,5
6 6,14 +0075 M 12x1,5 70 10 3 8,1
L 8 8,15 1099  M14x15 7,0 10 3 10,1
10 10,15 009 M16x1,5 70 M 3 12,3
12 12,15 011 M18x1,5 70 11 3 14,3
15 15,15 011 M22x1,5 70 12 3 17,3
18 18,15 011 M26x1,5 75 12 3 20,3
22 22,16 *%1°  M30x20 7,5 14 4 24,3
28 28,16 %18 M36x20 75 14 4 30,3
35 35,30 *01 M45x2,0 10,5 16 4 38,0
42 42,30 *01 M52x20 11,0 16 4 45,0
6 6,14 0075  M14x1,5 70 12 3 8,1
S 8 8,15 %  M16x1,5 70 12 3 10,1
10 10,15 009 M 18x1,5 75 12 3 12,3
12 12,15 011 M20x1,5 75 12 3 14,3
14 14,15 011 M22x1,5 80 14 3 16,3
16 16,15 011 M24x1,5 85 14 3 18,3
20 20,16 *91°  M30x20 10,5 16 4 22,9
25 25,16 018 M36x20 120 18 4 27,9
30 30,16 **1°  M42x2,0 135 20 4 33,0
38 38,30 *01 M52x20 160 22 4 41,0

W 14 sdwer



Assembly Instruction for Compression Fittings to EN ISO 8434-1

Technical Information

Nut dimension

s
PN O.d M S H SR-No.

LL 100 4 M 8x1,0 10 11,0 SR-5014LL
LL 100 6 M10x1,0 12 11,5 SR-5016LL
LL 100 8 M12x1,0 14 12,0 SR-5018LL
L 315 6 M12x1,5 14 145 SR-5016L

L 315 8 M14x1,5 17 14,5 SR-5018L

L 315 10 M16x1,5 19 15,5 SR-50110L
L 315 12 M18x1,5 22 15,5 SR-50112L
L 315 15 M22x1,5 27 17,0 SR-50115L
L 315 18 M 26 x 1,5 32 18,0 SR-50118L
L 160 22 M 30 x 2,0 36 20,0 SR-50122L
L 160 28 M 36 x 2,0 41 21,0 SR-50128L
L 160 35 M 45 x 2,0 50 24,0 SR-50135L
L 160 42 M 52 x 2,0 60 24,0 SR-50142L
S 630 6 M14x1,5 17 16,5 SR-5016S

S 630 8 M16x1,5 19 16,5 SR-5018S

S 630 10 M18x1,5 22 17,5 SR-50110S
S 630 12 M 20 x 1,5 24 17,5 SR-50112S
S 630 14 M22x1,5 27 20,5 SR-50114S
S 400 16 M 24 x1,5 30 20,5 SR-50116S
S 400 20 M 30 x 2,0 36 24,0 SR-50120S
S 400 25 M 36 x 2,0 46 27,0 SR-50125S
S 400 30 M 42 x 2,0 50 29,0 SR-50130S
S 315 38 M 52 x 2,0 60 32,5 SR-50138S

schwer 15 A



Assembly Instruction for Compression Fittings to EN ISO 8434-1

c Installation Videos

Installation Videos

Our installation videos can be found at:
www.schwer.com

Subject to change without prior notice.

P0089.09.21.2.1 GB

fittings

Schwer Fittings GmbH Tel.: +49(0) 7424 /98 25-0
Hans-Schwer-Platz 1 info@schwer.com

D-78588 Denkingen www.schwer.com





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 150
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 150
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 600
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
    /DEU <>
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [1200 1200]
  /PageSize [612.000 792.000]
>> setpagedevice


